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Rosyth School
End-ofvYear Examination 2021
Mathematics
Paper 1
Primary §

Name: Register No.
Class: Pr 5- Group:

Date: 28 October 2021 Parent's Signature:

Total Time for Booklets A and B ; 1 hour

Booklet A

1. Do not open this bookiet until you are told to do so.

2. Foliow all instructions carefully.

3. Shade your answers in the Optical Answer Sheet (OAS) provided,
4. You are not aliowed to use a caloulator.

5. Answer all questions,

S&ctio-ri Maximum Mark Mariks Obtained
Paper 1 {Bookiet A) 20 |

* This booklet consists of 7 pages (including this cover page).

This paper is not to be reproduced In part or whole without the permission of the Principal,

www.testpapersfree.com




Questions 1 to 10 cany 1 mark each. Questions 11 to 16 carry 2 marks each,
For each question, four options are given. One of them Is the corroct answer.

Make your choice (1,2, 3or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

All diagrams In this paper are not drawn fo scale unless stated otherwise.

___ (20 marks)

4.  Round off 348 550 to the nearest thousand.

(1) 348000

(2} 3488600

(3 349000

{4 350000
2. 1n 35 416, what does the digit & stand for?

) Sones

{2 Siens

{3} 5 hundreds

{4y 5thousands
3. How many gighths are there in 2% ?

{1

& 8

n N

@ 22

{Go on to the next page)
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What is the value of the digit 7 in 26.4757

(1) 0.007
@ 0.07
@ 07
@y 7

There are 72:bobks on a shelf. 45 of them are-storybooks while the.rest are comic
books. What js the ratio of the numberofcomic books t the-number of sterybooks
on the shelf?

(1) 3:5
(2)
3)
4) 8:5

Toby had $200. Ha gave $70 to his mother. What percentage of his money did
Toby give to his mother?

(1) 30%
@  36%
(3) 65%
@ 70%

{Go on to the next page)
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7.  The figure shows a cubtid witlhya squarebase ofside3 crm and a Hgigihte

What Is the voltme of the cuboid?
Bem
3em
1) 2dom?
2y 48aom®
{3y 72em?
4y 192om®

8. Thetable below shows the marks Gary scored for four subjects,

Subject Marks

English | 72
Mathematics | 7
Mother Tongue | 86

Science 70

Gary scored atotal of 268 marks for his four subjects. How many marks did he

score for Mathematics?
(1) 58
{2) 58
{3y 60
4 82

{Go on to the next page)
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8.

10.

Irs the figure below, PR and ST are straight lines, Find £LUOT.

{1)
()
&)
“)

in the figure below, ABC is an isosceles tHangle. BCE is a straight line. Find £ ACD.

M
@)
(3)
(4)

23°
26°
2r
53°

35°
40°
504:
65°

www.testpapersfree.com
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11.

12

13.

The ihickness of ona magazing is 0:38 m: What is the thitkness of B simitar
magazines in metres and centifmetres?

m
@
@
@

)
@
)
@)

(1)
(2)
@

(4)

2macm

2m 80 cm
20m B om
20 rg 80 o

gL
18

Ekgeof-flour, He used - L - of.iherfiur to bake cookies. How much fiour
did Andy have lel¥?

1D

8
’{53@
1
4§kg
9
4?6!{9

1
5;‘5@

www.testpapersfree.com
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14.

15.

f‘f! ; sh‘ o : L

Mir Leon Eg$248. He | TEITRT
grifeHtof Hidiiey to his three brothers eayally. How much. money did ea*eh—hrmher
receive?

() $35

) s70

(3 §105

4) $210

The figure below is formed using HEGHIEIETEN HEHE1ES. The lonyth of XY.is 24 om;
Fired theppariatel of the figure.

(1)
(@)
(3}
(4)

84 cm

105 em
128 cin
210 om

{End of Booklet A}

www.testpapersfree.com

BP-773




BP-774

www.testpapersfree.com



Rasyth Schoot
End-of-Year Examination 2021
Mathematics
Paper 1
Primary 5

Name; Register No.
Class: Pr 5- Group No.
Date: 28 October 2021 Parent's Signature:

Total Time for Booklsts A and 8 : 1 hour

Booklet B

Instructions to Pupils:

Do not open this bookiet untit you are told to do so.
Follow all instructions carefully,

Yott are not allowed to use a calculator,

Write your answers in the booklet,

Answer al] questions.

BoA @ N

Section hﬁéifmum.ﬁiark .Mark's Obtained
Paper 1 (Bookiet 8) 25 b

* This booklet consists of 9 pages (Including this cover page).

This paper is not to be reproduced in part or whole without the permission of the
Principal.

www.testpapersfree.com
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Cuestions 16 to 20 cary 1 mark each. Wiite your answers in the spaces provided. |
For questions which require units, give your answers in the unils stated.

All diagrams in this paper are not drawn to scale unfess stafed otherwise.
_ (5 rarks)

Do not vifte
in this space

16, Findthevalue of 6+ 3 x (148} + 2.

[

. 2 & R
7 Find the value of = + =, Give your answer as a mixed number in the

3 8
simplest form.

Ans

18.  Find the value of 64.8 + 80.

Ans .

BP-776

2 {Go on it the next page}
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19, Complete the following figure to make swameimat using fine XY &8  |ponotwitte

the: fine of symmetry. in this space

- - - - -
L L4 - -” »
L -
- - - *

x » L L
- & - L - L] - L} * L] -*
- - L) ] . - ] - . L] &
* - - u - - » L] * [ ] -
L] - - ¥ * - - - - * »
- - L - - - - * - L *

20,  in the diagram below, the angles:meetata point. Find £a.

Ans &

{Go on to the next page)
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Questiohs 24 to 30 carry 2 marks gach. Show your workings clearly In the space | Do not write
provided for each quesfion and write your answers in the spaces provided, [in this space
For questions which require units, give your answers in the units stated.

All diagrams In this paper are nof drawn to scale unless stated otherwise.
{20 marks)

21.  Mrs Rajah deposits-$15 000 in a bank for one veas, The Interest rale is

284 peryean What is the total amourt of money she will have in the bank
ahithasendiof'one-year?

Ans:§

22, Inthe figure below, CAB is a straight line. Find the ares of triangie ABC.

{Go on to 1he next page)

www.testpapersfree.com



23.

100

45 o0 o
L £ 12

Amount of money spent ($)
N
S

The line graph below shows the amount of money Helena spent from
January to Aprif,

January February March April

What was the total armount of money that Helena spent from January to
Aprif?

Ans:$

Do not wite
n this space

www.testpapersfree.com

{Go on {o the next page)

BP-~779




BP-780

24, Using line AB shown below, draw and labsl Triangle ABC where Do notwrite
AB = BC. in this space

TR ;. s .

.
.

7 5 B e e e v m e el
* 3 b
F
»
A
H i
+ : A
*
B e v L D - e s L T T A
7 3
M H H
3 ® [
4 g .
2
I — e $
» *
1
-
: =
* E 1
L L e o -%---- . 3 ErTe OF
t
F
-
] x4
*
3
N
>
a2 4
; 1
> -
‘ ‘‘‘‘‘ - - 4 e M F*SJ’.“F!###---"*""“‘
g
q
¥
. 2

25.  n the figure below, ABED is a square. AE = CE and ZAEG 34",
Find ZDAE,

{Go on to the next page)
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- Do not write
28. B gils and 4 boys shared some stickers equally among themselves.  |inthis space
WhenezehmcFthe E4ifls gave up halfoftisirshare, the boys had 3 exte

stickers sach. How many stickers were there altogether?

Angs:

27. Penny spent $16.50 on 3 similar books and 2 similar files. Egch book cost
$3 more than each file. How much did each book cost?

Ans: $

{Go on to the next page)
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28. There are threadype

steaws in a box. The ratio of the number of red

straws to the niimber of Bluesstraws 184 1 8, The ratio of the number of

gréen siraws: 0 the {0220

EiEBr of red-and blue straws: is 558, Given

that thiere are IRT64 find the niber of greemrstraws Th the box,

Ang

Do not write
in this space

3
29. A rectangular conlainer measuring 40 em by 20 omi by 10 em Is £ filled

ea
with water atfitat. ~ BEihe water Is potred-ont of the container.

Find the volums of-water laRt in the container.

cm?

8 (Go on to the next page)
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34. Ben f6ided:3 rilangularplece: of paper ABCD along its diagonal AC.  |Do notwite
Find ZAED: in this space

8

Ans °

End of Paper
Have you checked your work?

www.testpapersfree.com
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ROSYTH |

End-of-Year Examination 2021

Mathematics Paper 2
Primary 5
Nare: Register No.
" Clags: Pr 5« Group No.
Date: 28 Oclober 2021 Parent’s Signature:
Tirne: 1 h 30 min
PAPER 2

Instructions to Pupils:

1. Do not open this bookiet until you are told to do so.

2. Follow all instructions carefully.

3. Show your workings clearly as marks are awarded for correct working.
4, Write your angwers in this booklet.

5. You are allowed {o use a caleulator.

6. Answer all questions.

Questions Maximum Mark | Marks Obtained
T Qites 10
Q6to 17 4 )
Section Maximum Mark | Marks Obtained |
Paper 1 45
Pa.per 2 55
Total 160

* This booklet consists of 14 pages (including this cover page)

This paper is not to be reproduced in part or whole without the permission of the Principal.

www.testpapersfree.com
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Quaestions 1 to § cary 2 marks each. Show your working clearly In the space Do not write
provided for each question and write your enswers in the spaces provided. For in this space
guestions which require units, give your answers in the units stated.
{10 marks}
All diagrams in this paper are not drawn to scale unless stated otherwise,
1.  The solid figure below is made up of 8 cubes.
Top view
» . L] . [ ] . E 4 » . - . L] . - .
Front view
{a) Draw the top view of the solid figure.
{b) Draw the side view of the solid figure.
fay TopView. {b} Side View:
[ 3 ) - - - - L * - » » ) » ">
™ ™ - - v » - » . M ' - » »
- 13 ] L] » * * 2 - f a » » »
* L ] » » * » * » . L] » » » »
- » & » - L] - [ ] » > » L] L 2 »
- L] » » - » L J L L ] » L ] L] &» »
- » -» » » * - * » - - * - >

2 {Goon to the next page)
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2.

John and Ken scored an average of 65 marks for their tesls. John scored {Donotwrits

14 marks more than Ken. How many marks did Ken score for his test?

Ans:

in this spate

3.

The table below shows the parking charges at a car park.

First hour

s2

1
Every additional 3 hour or part thereof

$0.80

Mr Goh parked his car at the car park for 135 min. How much did he pay for the

parking charges?

Ares:

3

www.testpapersfree.com

{Go on to the next page)

BP~787




BP~788

4. In the figure below, BCD is an equilateral triangle and ABC is an isosceles |Donotwile

_ in this space
triangle. AD Is a straight line. Find ZACB.
D

5.  Sean wanted to pack 48 apples and 72 oranges into as many bags as possible
with o rermainder. He packed the same number of frult in each bag. The number
of oranges in each bag was the same. How many oranges were there in each
bag?

Ans:

4 {Go onto the next page)
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For Questions 6 to 17, show your working clearly in the space provided for gach {Do not wile
question and writs your answers i the spaces provided. The number of marks |1 tHiS space
available is shown in brackets [ ] et the end of each quesiion or part-question, For
questions which require units, give your answers in the units stated, {45 marks)

- All dizgrams in this paper are nut drawrn to scale unless stated otherwise.

At first, Armnir had $450 and Rickesh had $265. Each of them bought a tennis

racket at the same price. The ratio of the amount of money Amir had igft to the

amount of money Rickesh had left became 7 : 3. How much did the tonnis racket
2 .

Ans: i3

Tha figure below shows two squarasg, with sides 3 crn and 10 ¢m, and a shaded
triangle. Find the total area of the unshatled parts.

Ang: (3}

5§ (Go on 1o the next page)
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8.  Inthefigure below, BCD is an isosceles friangle and ZBDA = 78", Find £DAE. | Dot wrila

Ans: [3i

2 L .
9. Timspmt:gzof his money on ampand-_gefhis remaining money on a pair of
shoes, He had $68 feft. How much monaey did Tim have at first?

Ans: _ (3t

6 {Go on 1o the next page)
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10.

BP-791

The figure below is made up of four small squares, Linda had painted part of one | Do not wiite
square white and the rest of the figure grey. The perimeter of the white part is | this space
38 cm and the perimeter of tha grey part Is 72 om. Find the area of one small
sguare.

Ans: B

7 {Go on to the next page)
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11.  Conlainer A and B held a total of 10.25 t of water. After 2.75 ! of waler was pnmi;-;twta
transferred from Conlalner A fo Container B, Container B had 4 times as much | Bpave
water as Container A. How much water was in Container B at first? |

Ans: S

g | (Goon 1o the next page)
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12. The graph below shows the cost of printing nvitation cards for the first 200 cards,

450

400 “.::I'I-'"-’leﬂ’wﬁﬂ'#"—"—‘-“~‘~'ﬂﬂiﬂhﬁﬂlﬁﬁﬁir'd““‘““f“& ;

5 s

35‘0""; i

300 - | E

) E ¥

. 1 ! ¢
Prifting 220 remcomemmmrr e e 5
sost ] i
® 2009 i
150
wl. |
1t 3 i ' 3
564 1 i ¢ ! '
i ' : : :

P S P i 1 v

20 4D 80 80 100 420 140 50 180 200

Number of cards

{a) Wandy prinied 40 invitation cards. How much did she havs to pay?

{b) Jéauier pald $130 for his inwitation cards. How many invitation cards did

he pring?

(¢)  How much does the printing company charge for every invitation card
printed after the 80% invitation card?

Ans: (a)
®)
(c)

{1

v

i 1

BP-~793

Do nob writs
in ihis space
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Dudng a sale, Mdm Hasnah bought a blouse and a skirt at a discount. She paid | Do not wite
a total of $189.10 on these two items. She paid $52.30 more on the blouse than In this space

on the skirt.

(a)
(b)

How much did she pay for the blousa?

Mdm Hasnsh received a total discount of $38.40 for the blouse and the skirt.
What is the percentage discount glven by fhe shop? Give your answer
comact to 1 decimat place.

Ans:{a} __ , 2l f{_‘——
(b) 2 | ]

' 10 {Go on to the next page)
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B nob wriks

14.  Mrs Tan had two roils of ribbons of the same length but different designs. She |Do:
cut the first roll of ribbon Info equal pieces of length 40 cm and there were 7 suns | i this epace

on each plece of ribbon as shown below.
First roll of ribbon

rﬁ”*’ ‘ﬁ" gmﬁ Bk ,;?? |

She thercut tha second rolf of ribbon inte equal pieces of length 60 cm and there
were O stars on each plece of ribbor as shown below.

Second roll of ¢!

(233533333

After she finished cutling both rolis of ribbons, she counted that the total number
of suns was 126 more than the total number of stars. Find the length of one roli

of ribbon.

o al

11 (Go on to the next page)
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15. The bar graph below shows the number of people who went for a theatre play {Do mtwﬁh
from Tué%day 1o Friday last waek. The theatre can hold a maximium number of tn this space
800 people for each day.

600

500

400

Number of
300
people )

200 =

100 ¥

0

| Tuesday | Wednesday Thursday Fttﬁay

(a) What was The average number of people from Tuesday to Friday lasl
week?

(b) The average number of people on Saturday and Sunday was 85 more than
" the averags number of people from Tuesday to Friday.

Write down one possible set of values for the number of people on
Ssturday and Sunday.

Ans: (2) _ 2
(b) . ; [2}
12 ' - (Goon!oménextpage)
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Ranf packed some candles into two boxes of different sizes. The small box can | Do not wiite
hoki 100 candies while the big box can hold 240 candles, She packed half of the |In this space
rumber of candles in small boxes and the other half of the number of candles in
big boxes, At the end of her packing, Rani counted that there were 21 more small
boxes than big boxes,

{a) Howmany small boxes of candlas did Rani pack?
{b} How many candies were there alfogether?

Ans; (a) {3}
(b) [2]
13 (Go on. t& the next page)
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2 , , 100 not writa
17. Marsya speﬁtg of her money on 8 rulers and 12 pens. The cost of ona pan Is jinthis spase

1
twice the costof one ruler.She bought some more pens with 2 of her remaining
money. How mavy pens did Marsya buy altogether? '

End of paper
Have you checked your work?

14
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SCHOOL : ROSYTH PRIMARY SCHOOL
LEVEL : PRIMARY 5

SUBJECT : MATH

TERM : 2021 EOY

PAPER 1 BOOKLET A

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Qs Qe Q10

3 4 4 2 1 2 3 3 3 1

Q11 | Q12 | Q13 | Q14 | Q15

PAPER 1 BOOKLET B

Q16)| 18

Q17) | 11

Q18) | 0.81

Q1 9} - - hd ¥ - » - = -

Q20) | 65°

Q21) | 100% — 15000
1% — 15000 + 100 = 150
102% — 150 x 102 = 15300

Pgl

www.testpapersfree.com




Ans: $15300

Q22)

8x%x8=48
Ans: 48cm?

Q23)

Total — 75 + 20 + 90 + 55 = 240
Ans: $240

Q24)

/
™ £
/

Cc

Q25)

Angle CAD: 90 +2=45

Angle CAE: (180 -34)+2=73
Angle DAE: 73 - 45 =28

Ans: 28°

Q26)

2 girls: 3x4=12
6 girls: 12x2=24
1girl: 24 +6=4
4boys:4x4=16
Total: 16 + 24 = 40
Ans: 40 stickers

Q27)

3B

2F

5u:16.50+3 x2=2250
1u:; 22.50+5=4.50
Ans: $4.50

Q28)

R:B:G
4: 5

6 :5
8 :10:15

R: 32
8u:32
fu:32+8=4
G:15x4=60

Pg2
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Ans: 60 green straws

Q29)

Vol at first: (10 = 5 x 3) x 20 x 40 = 4800
Left: 4800 + 2 = 2400
Ans: 2400cm?

Q30)

180-110=70

Angle BAD: 180 -90-70= 20
Angle DAC: 70+2=35

Angle ACD: 180 -35-90=55
Ans: 55°

PAPER 2

Q1)

a)

b)

Q2)

Total: 65 x2 =130
2u:130-14 =116
K: 116 + 2= 258
Ans: 58 marks

Q3)

135min = 2h 15min

Extra = 1h 15min

1h 15min = 3 sets

3sets > 0.90x 3

=270

Total > 2.70 + 2
=470

He paid $4.70.

Q4)

Angle ABC - 180 - 160
=120

Angle ACB - (180 - 120) + 2
=30

Angle ACB is 30°.

Q5)

Peg3
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48 72
1x48 1x72
2x24 2x36
3x16 3x24
4x12 4x18
6x38 8x9

Largest common > 24

No. of oranges > 72 + 24
=3 ‘

There were 3 oranges.

Q6)

udiff>7-3
=4
4u > 450 — 265
=185
u->185+4
= 46.25
3u->46.25x3
= 138.75
TR => 265 -138.75
=126.25
It costs $126.25.

1 Q7)

Big length > 10+ 3
=13

Shaded > 10 x 13 x 3

=65
Total 2 3x3+10x10
=109

Unshaded = 109 - 65
= 44

The area is 44cm?.

Qs8)

Angle ACE > (180 ~90) + 2
=45

Angle ADE > 180 -78-45
=57

Angle DAE > 180 — 90 — 57
= 33°

Q9)

cap 66

. e—ee—_d

~ shoes

Wl
=R K-

1Mu—=>66+3

=22
10u->22x10

Pgd
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= 220
Tim had $220.

Q10)

4L > 7238
=34
1L>34+4
=85
1sg>85x85
=72.25
The area is 72.25cm?2.

Q1)

5u->» 10.25
1u->10.25+5

= 2.05
4u-> 2.05x4

=8.2
B atfirst> 8.2 -2.75

= 5.45

Container B had 5.45¢ of water.

Q12)

a)
40 cards > $90
She paid $90

b)
$130 -> 60 cards
He printed 60 invitation cards

c)

each - 200 = 100
=2

They charge $2

Q13)

a)

2u > 189.10 + 52.30
= 241.40

fu—=> 24140+ 2
=120.70

She paid $120.70

b)

Total without discount = 189.10 + 38.40
=227.50

% discount =2 3820 %100

227.50
=16.9

They gave 16.9% discount.

Q14)

Common multiple - 120
Sun 120cm > 7 x 3
=21

Pg5
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Stars 120cm > 9x 2
=18
1 set diff > 21 -18
=3
No. of sets > 126 + 3
=42
One roll > 42 x 120
= 5040
The length is 5040cm.

Q15)

a)
Total = 360 + 480 + 240 + 500
= 1580
Average => 1580+ 4
= 395
The average is 395 people.

b)
Sat and Sun average > 395 + 85
= 480
Sat and Sun total > 480 x 2
= 960
Possible - 492 and 468

There might be 468 people and 492 people.

Q16)

a)
15 x 240 = 3600
15+21=36

36 x 100 = 3600
Small box - 36
She packed 36 small boxes.

b)
Total = 3600 x 2
= 7200
There were 7200 candles.

Q17)

/2(8 rulers, 12 pens)
1
1 - (more P)
\ 3 / *
Z(remam)

3
Z(!eft)
8R=8u
12P=12x 2
= 24u

Pgb
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gof total > 8 + 29
=32u
goftotal >32+2
=18u
goftotal >16x3
= 48
More P9§x4s
=12
No.of newP > 12+ 2
=6
Total P> 6 + 12
=18
She bought 18 pens.

Pg7
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